Wednesday, January 31, 2018

11:40 AM

Same question. $x^2 + y^2 = 8.$ (\mathcal{L}) $y_0^2 = 8 - x^2$ [NO]. $y = \pm \sqrt{8 - x^2}$ 6x - 5y = 7. Same question -5y = 7 - 6x $y = \frac{7-6x}{-5}$ [YES]. Obj4: Evaluate Functions Function Notation: The notation f(x) is read as f of x (or the value of the function f at the variable x). f is just the name of the function

x is called the independent variable.

Note: f(x) DOESNOT mean f times x.

E.g.
$$y = 16 - x^{2}$$

call this $f(x)$
 $f(x) = 16 - x^{2}$
Evaluate this function when $x = 4$
Notation: $f(4)$; $f(-2)$
 $f(4) = 16 - (4)^{2} = 16 - 16 = 0$
 $f(4) = 0$ (the value of $f(4) = 4 = 12$

Wednesday, January 31, 2018 11:49 AM

 $f(h) = 16 - h^2$ In the formula, $f(x) = 16 - x^2$, x is a placeholder. It is a placeholder for any value we evaluate the function at.

<u>E.g.</u> Given $g(x) = x^2 + 2x + 3$. Evaluate the following and simplify. (2 k) (a) q(-4)(d) g(h + a)(b) g (h) (f) g(-x)(e) q(x+1)

Wednesday, January 31, 2018 12:00 PM

$$g(x) = x^{2} + 2x + 3$$

(a) $g(-4) = (-4)^{2} + 2 \cdot (-4) + 3 = 46 - 8 + 3$
 $= 41$
(b) $g(h) = h^{2} + 2h + 3$
(c) $g(2h) = (2h)^{2} + 2 \cdot (2h) + 3$
 $= 4h^{2} + 4h + 3$
(d) $g(h+a) = (h+a)^{2} + 2(h+a) + 3$
 $= (h+a)(h+a) + 2h + 2a + 3$
 $= h^{2} + 2ah + a^{2} + 2h + 2a + 3$
 $= h^{2} + 2ah + a^{2} + 2h + 2a + 3$
 $= (x+1)(x+1) + 2x + 2 + 3$
 $= x^{2} + 2x + 4 + 2x + 5$
 $g(x+1) = x^{2} + 4x + 6$

Wednesday, January 31, 2018 12:06 PM

$$\begin{array}{c} (f) \quad g(f-x) = (-x)^2 + 2(-x) + 3 \\ g(-x) = x^2 - 2x + 3 \\ \hline (f) \quad g(f-x) = x^2 - 2x + 3 \\ \hline (f) \quad g(x) = x^2 - 2x + 3 \\ \hline (f) \quad g(x) = x^2 - 2x + 3 \\ \hline (f) \quad g(x) = x^2 - 2x + 3 \\ \hline (f) \quad g(x) = f(x) \quad g(x) = f(x) \\ \hline (f) \quad g(x) = f(x) - 2 \quad in \ fhe \ form f(x) = f(x) \\ \hline (f) \quad g(x) = f(x) - 2 \quad in \ fhe \ form f(x) = f(x) \\ \hline (f) \quad g(x) = f(x) - 2 \quad in \ fhe \ form f(x) = f(x) \\ \hline (f) \quad g(x) = f(x) \\ \hline ($$

